
M12x45 Hexagon head screws DIN 933 A4.70491000038816

Hydraulic motor 090 ISO194400008515

Grease Nipple Caps with tab Black194830005814

HRC rubber element 180193240004913

Half coupling HRC-F 180 For Taperlock 2517293240004812

Taperlock bush 2517-60193230002811

Taperlock bush 2517-40193230006510

Radial shaft seal 62x85x10 DIN 3760 A 19222000759

Grease nipple M8x1,25 H119150000508

Plug 3/4” black conical hexagon.39103001867

M12x55 Allen screw DIN 912 inox A4-70 49103003166

M20x75 Steel Bolt ISO 4014 8.8 FZV29100005085

M20 Washer DIN 125-A 8.8 FZV49100004234

M20 Nut DIN 934 8.8 FZV29100004223

Flange for adapter motor : 90 ISO, Machinined116347712

Adapte for parker motor, F12-110/125 ISO Machined116346211

TitleQtyPart numberPos

DOC1634815_1

9

7

1

6

12

11

13

10

2

4

5

3

8

14

15


